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I 92w9% notnn — granting to the unborn
a  Case: man told his wife that he is granting everything to her unborn child
b Ruling (8171 79): this is a case of 92195 N2t — NP RY
i Challenge: our mwn —man grants 100 to his unborn son, 200 to his unborn daughter — valid

ii  Answer: cannot answer — R "1 cannot identify author of that clause

1

Question: why not identify him as n”1 — who allows wip of futures
(a) Answer: n™ only allows such acquisitions to persons who are currently alive
Question: why not identify him as »ov "1 who recognizes the unborn as having financial status
(@) Proof: if a 102 N3, married to a Y87, is widowed and she is pregnant — may not eat nmyIn (due to pres-
ence of 111)
(b) Answer: that is only in re automatic nw11, not a new nRapn
Question: why not identify him as 2”277, who allows gifting to any proper heir
(a) Answer: he (like n™) only allows it to someone currently alive
Question: why not identify him as 2”271 and extend his position to allow for o1 "¥'s re: 721y
(a) Answer: we have no basis for making that claim (that 2”17 accepts 01 'v’s position vis-a-vis 121p)
Question: why not explain that the gift in our mwn is a »17wan-gift (as above)
(a) Answer: the next clause — if there are no other children (but the Dyomv), “he” inherits all — can’t be 1wan
Question: why not explain our n1wn as a case where she already gave birth
(a) Answer: language doesn’t allow for it — "19nw 93" (future) — would have to be "n19w 95” (past)
Question: why not explain that the father intended that when she gives birth, the gift will take effect
(a) Answer: R10 "7 is being consistent with his own approach:
@A) 725 oo
1. 177 takes effect if he states “when she gives birth”
2. 1”7 never takes effect
3. nww 7. works even in utero
a. Argument: ruling that if a 73 dies and someone seizes his property, then hears that he had
a child or his wife was pregnant — must return
i.  Then: heard that son died or his wife miscarried — must make a new npm to acquire
b.  »an: thatis in re: "Wy which is automatic
c. N7 original 1p was “weak” (didn’t know if there was an heir)> must make 274 npm
d.  Split the difference: if, after learning the heir hadn’t died — he did (x21%- still needs 274 nprn)
4. Challenge: ruling that a 1-day old child bequeaths and inherits - not an 121
a. nww 7. this is in reference to inheriting mother’s estate to bequeath to paternal brothers
i.  And: only works with a child who was already born
ii. Reason:a son isn’t w7 his mother’s property to pass it on to arn jn o'nR posthumously
iii. Challenge: is the premise that the 721y will always predecease mother (in such a case)?
iv. Counter: case where baby was v379n for 3 days (after mother died in childbirth)
v. Rejection: just like a rodent’s tail continues to have spasms —it is already dead
b.  (x¥a37 owa) 9or *37 7772 94 this refers to his ability to diminish #7191 phnas per v. 1
i.  Note: this was the version of the kma5 in Xm0
ii. In nr72m19:if @ 102 is born after father’s death, no 0w s as per v (v. 1)
iii. And: father isn’t present to “recognize” him
c.  Ruling: we follow both rulings reported by qov '37 7772 91 in R17’s name
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